2017 8

mA(g) +nB(g)<=pC(g) +q¢D(g)

(€ (C) + (D)

Cc"(A) - "(B)
1 (2011 15) 298 K.
100 kPa 1L 0.09 mol Cl,
1/3 H,0 Cl, H,0
o (1)
;(2) HE))
NaOH
(4 Cl, Cl,
Cl, H,0 o
“ 1/3 H,0 Cl, H,0
; NaOH H*
; Cl,

o

(1)Cl, +H,0=H" +Cl~ + HCIO;
) Cl, + H,O==H" + Cl~ + HCIO

0.09 0 0 0
0.09 X% 0.03 0.03 0.03
0.06 0.03 0.03 0.03
ch(H+) * c¢(Cl7) * ¢(HCIO) —0.00045
c(CL)
3) :(4)
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322100
. . K, K, pH
o HA:

HA=——=—H" +A~
) _e(H) se(4)).

’ c(HA) ’

BOH:

BOH<——=B" +OH"
K :c(B+) *¢(OH")

b c¢(BOH)

2 (2013 29) 25C

H,80, =——=HSO0, +H"*
K,=1x10 *mol * L."'

NaHSO, K, ?
H,S0
I NaHSO, u
: ¢(HS0; )
?
NaHSO,

_c(HSO;) +c(H")
t ¢(H,50;)
HSO; + H,0<H,S0, + OH "

_ c(H,50,) Ky K, 1.0x107"
"Te(HSO.) ce(HY) K, T 1.0x1072 T

1.0x107"%;  NaHSO, I,
c(HY) K,

¢(1,50,)
c(HS0,)



e D8 o

~

pH

(K,)- M A,
:Ksp — Cm(Mu+) R C” (Am—)

o

3 (2010 -
15) g
Fe (OH), (s)~
Cu(OH),(s)
pH Fe'* . Cu’”
1 it
1
C o
A. K[ Fe (OH),] <K [ Cu (OH),]
B. NH,Cl a
b
C.c d c(H") ¢(OH)
D. Fe (OH),.Cu (OH), b.c

b~c

xmol e L' ¢ (OH™), = 1077° ¢ (OH7), =

107" K _ [Fe(OH),] = X x (107%7)°

K, [Cu(OH),] = X x (1077%)?
K,[Fe (OH),] <K_[ Cu (OH),] A o
a b
NH, Cl
B o Ky c~d c(HY)
¢(OH") C
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K<Q D

~

c(OH™) * c(H") =K,

o

c(OH ) .c(H")

OH .H' ;H,0 H*
OH" . K,
K, .
4 (2014 10) 0.10 mol *
L' NaHCO, ( )o
A. NaHCO,
NaHCO, Na® +H" +CO%~
B.25C n(H") n(OH™)

C. e(Na™) +c(H")
=c¢(OH") +¢(HCO; ) +¢(CO7)

D. c(HCO;)
NaHCO,
o NaHCO,

HCO;

Na* . HCO,

NaHCO,
NaHCO, ==Na" + HCO;
HCO; =—=H" +CO:~

A

o Ky =c(H") *«¢c(OH")
Ky * V2 =n(H") *n(OH") K,
B

o

c(Na")+c¢(H") =c(OH ) + ¢ (HCO; ) +

2¢(CO°) ¢ . HCO;

c(HCO,) D

B a(H') n(OH)
c(OH") B

o (

c(HY)
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